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Answer all the followine ques,tions:
i-is aCiepted and any mr'ssrng data can be assumed)

Question 1 (30 marks)
Taare the type io fp ipesuSed inwate rd is t r ibu t ionsys tems? ' . ' . I 5 ]

uj Given the network shown in Fig. 1, the inflow at A, and outflows at C, D and E. Using Harcy

Cross method, f ind the flows in ttre individual pipes comprising the network (only one trial is

required;. " " "[25]
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euestion 2 (25 marks) 
'1m'/s

-a) 
Dbcuss the purpose of  using equivalent pipe?.. . . " ' .  ""  '  ' ts l

O) for the system shown in fig.(2), when the flow from the elevated tank at A is 120
lit/sec, the pressure at D was 2.5 kg/cm+. The flow to D must be increased to 165 lit/sec
with a pressure at D equals to 3.5 kg/cry'. What size of pipe, 1500 ms long, should be
laid from B to D (shown dottedi parallel to the existing 250 mm to accomplish this
resul t? . . . . . . . . . t201
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Question 3 (25 marks)

Investigate the minor pipes of the distribution system shown in Fig' 3.
The re[uired fire flow 400 lit/sec. Feeders are 1000 ms apart and the normal pre$ure [n the
feeders is 2.8 kglcmz.
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Question 4 (20 marks)

Compare (using sketches as possible) between different types of surface water
in takes .  . ' .  t10 l

An artesian well is pumped at the rate of 1 .6 m3imin. At observation wells 150m and 300m
away, the drawdowns noted are 0.75m and 0.60m, respectively. The average thickness of
the aquifer at the observation wells is 6.0m. Compute the coefficient of permeabil ity of the
aqui fer .  .  I10l

End of Exam - Good luck
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